VR 2 6 EMETtaEaiEs

HIRAFEXE Y v ¥ —EERESHTRE

HAL: TH

KK 2 # & # H

AITAE T AR

24 T A

HE AR

il

=5 (UN

ARELLON

o8 O A ) A A

ZREEIA

20,517

19, 731

A\ 786

RPN

e [R) ZEAR AL 43 A

IR

3, 986

3, 986

H 3L SR B SF A

AN

FREMA

IR ABLA

HELA

= HURLEAC 2 A

R ELX ) [T A B

RHEE WA (1)

24, 503

23,717

A 786

NPEF S

Wi 5T O v TV B O 3 B

20, 043

19, 383

A 660

Tk B RAG - 58 T

S

RSO

3,057

2,989

A 68

HAER

Gk S P3

e[ il oy e o A S

Bl 3

CiE RS 3

40

40

At B A3

1, 363

1, 305

A 58

Wik BB T 24 F ST 4

HEEE X5y [T A 422

RHIES XHE  (2)

24, 503

23, 717

A 786

S B I SGERR (3) = (1) - (2)

o
s i RS A

“ FERRESE AR (4)

i [F PE HA 3 HH % OV A S

: MRS XHE  (5)

i R R I SIS % (6) = (4) - (5)

# MEBES AR (7)

MEES XHE  (8)

S ST B S 7240 (9) = (7) - (8)

=T

TiEE (10)

S SN (11)=(3)+(6)+(9) - (10)

BiRSZIVESR (1 2)

LHRZBEEER (11)+(12)

(=N (=2 (e} =} K= [=} =R k=l =l k= = =l =

=1 k=R k=R =1 K= (=] =R k=l =l k= = =l =

=3 E=2 =2 K= K=} [=} =R k=l =l k= =l k=l =




